¥Rz 3. ELSHHEE(2019.7.18kR)
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REBEESY : HPAREE - PAFHEE
BEMGE : ARMEFEARSRTHIABES
1. EZXZEBORE

20194 E* 20204 E* 20214 20224 &5 (M)
A BhE &R Es%E 12,000,000 18,000,000 30,000,000 20,000,000 80,000,000
B.EHOD&%:  r RE&%S 2500000 5,000,000 7,500,000 5,000,000 20,000,000
&t (A+B) 14,500,000 23,000,000 37,500,000 25,000,000 100,000,000
HEhE (A/(A+B)%) 82.8% 78.3% 80.0% 80.0% 80.0%
* 2019 12175 BEHREEA~D BRSO NCDONT, 2020 FESEEDTITNET,
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B AL INDHEICIE. BEEEEICHFET AUEREEBRE VIR E 28R %2 5IRER & FHELAW
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2.801C. 7Aas oL - F T4 —OFEETIEDEEE

20195 20204 20214 20224 & &5 (M)
TAT T AT AT DR 2,740,000 5,610,000 5,610,000 5,610,000 19,570,000
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% 2019 E 20204 20214 2022 &5 (M)

E&HREEA 4.6% 250,000 1,100,000 1,180,000 1,180,000 | 3,710,000
EITEEA 5.0% - 1,275,000 1,275,000 850,000 | 3,400,000
A&t 250,000 2,375,000 2,455,000 2,030,000 7,110,000
4 BhEE DEET

20195 20204 20214 20224 & &5 (M)
&% (A+C+D) 14,990,000 25,985,000 38,065,000 27,640,000 106,680,000
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R
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SIS (S 2500000 A
20194 fE /I E 2500000 -
SIS (S 5.000,000 A
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A 3. BEFEEE
BRA3-3FEE (FR3-10 A+B) DI

(1) =XEE DO H A

20194 20204 = 2021 20224 &it (M)
EITEEA~DBIEEC
A B EEsE4E 10,300,000 15,300,000 | 25,500,000 17,000,000 68,100,000
R
EIEBHRE 1,700,000 2,700,000 4,500,000 3,000,000 11,900,000
BEENREOE S 14.2% 15.0% 15.0% 15.0% 14.9%
B.BECEZ® - ETEEA~ DB
. 2000000 4,000,000 6,500,000 3,500,000 16,000,000
RM&s TLINDER
EEBHRE 500000 1,000,000 1,000,000 1,500,000 4,000,000
BEENREBOE S 20.0% 20.0% 13.3% 30.0% 20.0%
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(2) EFTAEADBREICRYSNIBEFBOEERHE
20194 20204 2021 20224 &it (M)
EITEEADMRFICTRLEEINDER 12,300,000 19,300,000 32,000,000 20,500,000 84,100,000
EEBICHDDEE 84.8% 83.9% 85.3% 82.0% 84.1%
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(1) FEHERO FEFIME
201954 H 20204 20214 & 20224 &5 (D
EEOER 2,200,000 3,700,000 5,500,000 4,500,000 15,900,000
(QEHHERDOAR
WAEBH GHRECLY AV BARERNEMRRICL TSN
Hl(H) | x|  E | Efr [x] @ | Efi =] A | RO
X 6 A X 04 By = HEEHFAR
X 6 %A X 04 By = HEIOEHAR
120,000 X 1 s X 1 3 = 120,000
Bes 30.000|FF8 % 10000 X 3 A X 1 [=] = 30,000
wEE 21,000 J¥FHPC 3500 X 6 %A X 1 a = 21,000
BEERER 30.000( 7 5 EpR E 30,000 X 1 S X 1 3 = 20,000
FHR 200.000| 3&3£ (%47 200 X 500 A X 1 ] = 100,000
ABEER 100,000 X 1 e X 1 & = 100,000
ENRISAR 140.000| 7 5 < 80.000 X 1 # X 1 = = 80.000
SR 40,000 X 1 e X 1 = = 40.000
Bl i 20000 X 1 = X 1 ¥ = 20,000
HESR 20000( wEREE 20000 X 1 2 X 1 3 = 20,000
P 7.000| 8 7.000 X 1 2 X 1 I3 = 7.000
2019 AR 2,200.000
BEFH BEBRS X 12 #A X 03 &y = EEEIDEAR
WEBRS X 12 #A X 03 ®H = HEIDFAR
HRZTEAR 100.000| RithiFE & & 100000 X 1 # X 1 3 = 100.000
RS 30.000|HFR & 10,000 X 3 A X 1 [=] = 20,000
wEE 42.000| B=RFAPC 3500 X 12 #A X 1 a = 42,000
BIEENE 30.000(F 5 > 7 £t 30,000 X 1 ES X 1 & = 30.000
EHR 1,000.000| 4 BEER 100000 X 10 MH#FE X 1 3 = 1000.000
ENRBISAR 20.000| = £— 20000 X S 1 3 = 20,000
HESR 15000 BRE L 15000 X 1 S X 1 3 = 15,000
e 15.000|# 8% 15000 X 1 S X 1 F3 = 15,000
2020 B ARt 3,700,000
BEFY EERE X 12 #AR X 04 By = HEEIHHAR
HEES X 12 #A X 05 &5 = HEIDFER
HRTAR 230.000| R ithiHE 230000 X 1 S X 1 3 = 230.000
T 60.000| FF8 % 10000 X 3 A X 2 = = 60.000
wine 42,000( :RFHPC 3500 X 12 #A X 1 A = 42,000
BEERE 70000(F 5 EHRE 40000 X 1 S X 1 3 = 40.000
HESE 30000 X 1 = X 1 E: 3 = 30.000
EHR 1,100,000 3354547 200 X 500 -] X 1 =2 = 100,000
ABEER 100000 X 10 FM#F X 1 3 = 1000000
£RR 240.000| &= 120000 X 1 Z] X 2 = = 240.000
ENRISAR 140,000 ¥ 5 &~ 80.000 X o =) 80.000
R 40000 X o =] 40,000
a—c—§ 20000 X = £ 20,000
HESR 20000| X EREE 20000 X = 3 20,000
e 10.000|# 8% 10000 X S 3 10,000




2021 @ AR 5,500.000|
e === X 12 »A X 03 ®h EREOHAR
TEES X 12 #A X 04 &y EREIDHAR
HRIAR 200.000| 3R #h3HE 200,000 X 1 S X 1 F3 200.000
RS 60.000| FFR% 10000 X 3 A X 2 [=] 60.000
RN 42,000| S RFHPC 3500 X 12 3R X 1 & 42.000
B ERR 30.000| 7 5 BB E 30000 X 1 N X 1 F3 30.000
THR 1,100,000 334547 200 X 500 @& X 1 5] 100.000
HABEER 100000 X 10 HE#F X 1 -3 1,000,000
L8R 120.000[ = 120000 X 1 B X 1 5] 120,000
FIRISAR 130.000( %53 80000 X 1 ® X 1 5] 80,000
FIAR 40000 X 1 - X 1 =] 40,000
Elmis 10000 X 1 ES X 1 3 10,000
HESR 20000 ERB & 20,000 X 1 E X 1 E3 20,000
P 26,000 &% 26000 X 1 3 X 1 3 26,000
20224 BT 4,500.000
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20194E 20204EF 202146 20224 &t (M)
AT L A7 1Y —OREXEOEDHE 2,740,000 5,610,000 5,610,000 5,610,000 19,570,000
3b7a75 4L F 74 —DAHE 2,450,000 4,200,000 4,200,000 4,200,000 15,050,000
3bZOMOESR 290,000 1,410,000 1,410,000 1,410,000 4,520,000
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#A =l — — -
e [sm® [x] @ [ Bm [x] @ s [=] adt ] %
A&
BT L ‘ 2,450,000] 70175 LA 7 14— 500,000 X 7 H A X 0.7 %45 = 2,450,000
Z DA DSESHE
BB 60,000 | Bt AR 50,000 X 1 = X 1 -3 = 50,000
JANPIAES 10,000 X 1 Ev X 1 £ = 10,000
30,000| % E 2 10,000 X 3 A X 1 @ = 30,000
Bk 70,000 #ENR) 50,000 X 1 B X 1 -3 = 50,000
ar—ft 20,000 X 1 By X 1 £ = 20,000
FRISA 10,000 | #FI5MAE 1 FHES 10,000 X 1 A X 1 F = 10,000
BIEERE 10,000 | & fm s 10,000 X 1 = X 1 -3 = 10,000
ES - 100,000 7 /34 4 — 100,000 X 1 By X 1 £ = 100,000
] 10,000 |2 10,000 X 1 A X 1 -3 = 10,000
20194 /N5 2,740,000
AR
P 4,200,000] 7675 147 44— 500,000 X 12 HA X 07 %4 = 4,200,000
ZOMOEHE
RETRE 310,000| =47 o 200,000 X 1 EN X 1 F = 200,000
BIRAEE 100,000 X 1 B X 1 -3 = 100,000
JANPIAHES 10,000 X 1 e X 1 & = 10,000
130,000 |5 % E#h3a 2k 20,000 X 1 A X 5 [E = 100,000
ETSI=ES 10,000 X 3 A X 1 @ = 30,000
RIS 70,000 & #Eni) 50,000 X 1 EN X 1 & - 50,000
ae—f 20,000 X 1 B X 1 -3 = 20,000
smeE 10,000 | %P9 FHER 10,000 X 1 A X 1 & = 10,000
BIEERE 30,000 |37 30,000 X 1 EN X 1 & - 30,000
Rt 300,000 7 £ /51 4 — 300,000 X 1 A X 1 & = 300,000
B 550,000 | 252 110,000 X 1 El X 5 @ = 550,000
Wy 10,000 |32 10,000 X 1 By X 1 & = 10,000
20204F /N5 5,610,000
AR
P 4,200,000] 7675 147 14— 500,000 X 12 HA X 07 %4 = 4,200,000
ZOMOEHE
BT 310,000 200,000 X 1 EN X 1 & = 200,000
100,000 X 1 B X 1 -3 = 100,000
JANPIAFHES 10,000 X 1 = X 1 & = 10,000
130,000 |5 % E#h3a 2k 20,000 X 1 A X 5 [E = 100,000
ETSI=ES 10,000 X 3 A X 1 @ = 30,000
RIS 70,000 & #Eni) 50,000 X 1 EN X 1 & - 50,000
ae—f 20,000 X 1 Ee X 1 -3 = 20,000
smeE 10,000 | %P9 FHES 10,000 X 1 A X 1 & = 10,000
BIEERE 30,000 |37 30,000 X 1 EN X 1 & - 30,000
Rt 300,000 7 £ /51 4 — 300,000 X 1 A X 1 & = 300,000
B 550,000 | 252 110,000 X 1 A X 5 @ = 550,000
Wy 10,000 |32 10,000 X 1 BN X 1 & = 10,000




2021 BE/NET

5,610,000

[ A=
BEEY £,200,000] 7075247« %—| 500,000 X 12 RS 07 EH 4,200,000
ZOfDEEE
DRI A 310,000 | se47F¢A#AR 200,000 X 1 = ¥ 1 3 200,000
BIRERTH 100,000 X 1 = X 1 3 100,000
JANPIARHE 10,000 X 1 = X 1 3 10,000
SME 130,000 | iEfA 20,000 X 1 A X 5 [ 100,000
#raS 10,000 X 3 A X 1 =] 30,000
X
BINE 70,000 50,000 X 1 = X 1 3 50,000
20,000 X 1 = X 1 3 20,000
BEERE 10,000 10,000 X 1 A X 1 3 10,000
X
£iE 30,000 |83 2 30,000 X 1 = X 1 3 30,000
B - 300,000 7 /51 4 — 300,000 X 1 A X 1 & 300,000
LHB 550,000 % 110,000 X 1 ] X 5 G 550,000
AnE 10,000 |4 10,000 X 1 = X 1 3 10,000
20224 E/NEE 5,610,000
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(1) B2/ EBE OO ERE
20194 20204 F 20214 F 20224 &t (M)
BEARE 0 FHEERE 250,000 1,100,000 1,180,000 1,180,000 3,710,000
BRI L BEIS 2.1% 6.1% 3.9% 5.9% 4.6%
(2) B2/ EBEOTHERIERE D AR
) BRI GIERIC L U h 7N BABEARERC LTS L)
BB 28 — — = =
ER smE [x] @ B [x] f& g =] Adf | "%

RERE 200,000 | IR #RE Y FHE 200,000 X 1 = X =3 = 200,000

ERENRIZ 50,000 (&8t - 7> 45— rengl 50,000 X 1 = X £ = 50,000

20194 /N 250,000

] 1,000,000 | #4894 /32 hEpE 100,000 X 10 iz X £ = 1,000,000

RERE 70,000 | B3t T DM ESE 70,000 X 1 A X =3 = 70,000

BIEEWRE 30,000| 7 >4 — hERs% 15,000 X 1 = X [a] = 30,000

20204 F /N5 1,100,000

] 1,000,000 | #4894 /37 +EpE 100,000 X 10 iz X & = 1,000,000

RERE 100,000 | B #h T D EHMIESE 100,000 X 1 =] X =3 = 100,000

BIEERE 30,000| 7 >4 — kgt 15,000 X 1 = X [a] = 30,000

FIRIBIAE 50,0005kt - 7> 4 — rengl 50,000 X 1 ES X & = 50,000

20214 /N5 1,180,000

] 1,000,000 | #4894 /32 +EpE 100,000 X 10 iz X & = 1,000,000

RERE 100,000 | B #h T D EHMIESE 100,000 X 1 =] X =3 = 100,000

BIEEWRE 30,000| 7 >4 — kAT 15,000 X 1 = X [a] = 30,000

FIRIBIAE 50,0005kt - 7> 4 — Rengl 50,000 X 1 ES X & = 50,000

20224 FE/NEY 1,180,000
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